2RXS J132831.8—-490905

gamm*bbdy

932625 0031

e

IR (TR A R (T RN N A (T T A I

11
7 b ‘v ©
o o o o
L | L | L o | L |
(A93 s zwd)/suojoyd
I L |1 O | 1R O 1R
11 oo b e e b e o s
7 ¢ 7 Y
o (@) o o
L | —] — L |

(A s)/s3uno)

1.00

Energy/keV

0.10

1.00

Energy/keV

0.10

o — [a2]
o o (@]
+ | |
=] [ [
© o o~
LR
w o ©
| | |
+ + +
-~ -— ~— (4]
A
=1 [x] = [ 23]
< wn a ™ ™
© = unu o 9
[aV] ™ >~ o [aV]
Il
() 1]
-
© — Il
S ] >
o x| < E
g 2 = — 9
n [z, z ) z
 LLLLE LN LN LR L
T
- —
=IRRRIRRARARRRRARRRRA NN
N N - O -

s[enpisay

1.00

0.10

X2req = 1.017 4

Energy/keV



